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PRINCIPLES OF ECONOMICS HSSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

0] Economics was considered as “Dismal Science” by:
A. Marshall B. Ruskin and Carlyle
C. Keynes D. Pigou
(i) The power of a product which is used to satisfy human want is called:
A Utility B. Usefulness C. Satisfaction D. Wealth
(iif) If price of a product changes from Rs 10 to Rs 15 and demand from 100 kg to 50 kg, the elasticity of
demand will be: _
A. -1 B. -1.7 C. -1.9 D. -2.1
(iv) The quantity of a product which is offered for sale in a market at a certain price in some period of time
is called:
A. Demand B. Stock C. Supply D. Utility
(v) If demand and supply fall at equal proportion then equilibrium price:
A. Increases B. Zero C. Decreases D. Remains constant
(vi) All goods and services are produced by: '
A A combination of output B. A combination of input
C. Labour only D. Capital only
(vii) The cost of production which changes in long run is called:
A. Average Total Cost B. Total Variable Cost
C. Marginal Cost D. Total Fixed Cost
(viii) Under Monopoly, the slope of marginal Revenue (MR) and Average Revenue (AR) curves is:
A. Positive B. Zero C. Negative D. Infinite
(ix) One of the following is NOT labourer:
A. TV Newscaster B. A mother feeding her baby
C. Joint Secretary in ministry D. A Clerk
(X) Marginal Revenue product (MRP) curve is:
A Demand curve of a firm B. Supply curve of a firm
C. Demand curve of an industry D. Supply curve of an industry
(xi) Which is included in “NNP” to get “GNP"?
A. Direct taxes B. Indirect taxes
C. Depreciation Allowance D. Subsidies
(xii) The most important feature of good money is:
A General Acceptability B. Medium of Exchange
C. Store of value D. All of the above
(xiii) The Equation of Exchange PT=MV was given by:
A. Fisher B. Keynes C. Kuznet D. Crowther
(xiv) The better phase of “Trade Cycle” for Economy is:
A. Depression B. Recovery C. Boom D. Recession
(xv) What is the rate of Zakat on goods to be traded?

A 2.5% B. 3.5% C. 4.5% D. 5.5%
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Time allowed: 2:40 Hours

PRINCIPLES OF ECONOMICS HSSC-I

Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and legibly.

SECTION - B (Marks 36)

Q.2  Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. (9x4=36)
(i) Write four important aspects of Adam Smith's definition of Economics.
(i) Write Consumer's Equilibrium position in terms of equation/formula.
(iii) Look at the following figure and Answer:

°
D,
R 2 X
P c O
; DD
oy
a) Which points show rise in demand?
b) Which points show extension in demand?
(iv) Define Income Elasticity of Demand and also write its formula.
(v) Define “Law of Increasing Returns”.
(vi) Describe the relationship between Average Cost (AC) and Marginal Cost (MC).
(vii) Write down any four characteristics of land.
(viii) Define “Normal Profit”.
(ix) Define Disposable Personal Income (DP!).
(x) Define “Money”.
(xi) Write down the phases of trade cycle.
(xii) Define “Balance of Payment”.
SECTION — C (Marks 24)

Note: Attempt any TWO questions. All questions carry equal marks. (2x12=24)

Q.3  Explain the “Law of Diminishing Marginal Utility” with the help of schedule and diagram.

Q.4  Explain the Firm’s Equilibrium under monopoly.

Q.5 Explain “Circular flow of national Income” with the help of Diagram.
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